L.O.. I can estimate in order to check a calculation
99 + 99 can be rounded to 100 + 100 = 200.  So I estimate 99 + 99 is approximately 200.
99 + 99 ≈ 100 + 100 = 200, so 99 + 99 ≈ 200
	
	Round the sum
	Estimate
	Actual answer

	24 + 318
=
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	191 + 267
=
	
	




	

	4813 + 2786
=
	
	




	

	7500 + 1896
=
	
	




	

	8173 + 3007
=
	
	



	

	143-71=
	
	



	

	987- 450=
	
	



	

	8243- 3745=
	
	



	

	7654-2936=
	
	



	



Write down the ages of everyone in your family, then estimate the total age. 
_______________________________________________________________________________________
